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308 XX EHH SOl A 200,000 200,000 0
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QUHED|Y - FASAIY SN L HE £ 12,000
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& 630,000
403 ItXIHAMS K201 2,730,000 0 2,730,000
= 2,100,000
& 630,000
01 XX SHMA2E X 2,730,000 0 2,730,000
OlLa S MAXNJILAH 2= 2,730,000
= 2,100,000
= 630,000
S370 435 =X 31,600 21,600 10,000
201 LEt2 Y| 28,000 18,000 10,000
01 AFR2t2ldl 28,000 18,000 10,000
OLAT AEFE LEFIEE 29 15,000
O 33 - 0122 ue gEXAH 25 3,000
OZTUNZB =70 243 u= 10,000
202 04| 3,600 3,600 0
01 2L Y] 3,600 3,600 0
O3370 = & =ML B2 3,600
S0 %3 JhA 50,000 50,000 0
308 AXISHXMSOoIH 50,000 50,000 0
10 ST 2SOIUHsHE A X AN HI 50,000 50,000 0
O3370 £33 M=zl 50,000
OHAHEY 923 2 MEa3ZHEE ML 177,300 183,300 A 6,000
202 04| 3,300 3,300 0
01 2LHOHI 3,300 3,300 0
OZSAJIGME EH0HAHE K& 3,300
307 QI2t0| ™ 70,000 70,000 0
02 DI2ZHEMAIEE X 70,000 70,000 0
OZUW =) E4E AEXNA 70,000
308 AXISHXMSOIH 104,000 110,000 A 6,000
10 SISO SHEAX AN I 104,000 110,000 A 6,000
OR=3T2J|Y oz A& A 24,000
OFAJY 2==HS CIAQ W X3 80,000
E8 - Ixs XJ3AMES CHHG 294,000 188,400 105,600
201 LBEF2 A Y| 47,000 47,000 0
01 At 22l Yl 47,000 47,000 0
OUWIDENE ANESS ®H 40,000
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308 XtXIEHH SOl A 246,000 140,400 105,600
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O 401 88 - B2 24 100,000
SXtaoich 45t XA 11,700 207,500 A 195,800
202 Od4dl 500 500 0
01 = LH 4 bl 500 500 0
OXT& N &#43 =& 500
308 XXIEHH SOl A 11,200 14,000 A 2,800
10 SII 2SOl CHetZ & = 0 & A& I 11,200 14,000 A 2,800
O&X &N ns & 248 X2 11,200
S0ad =4 & EHES 109,600 111,100 A 1,500
202 04l 500 500 0
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OEESHZ S22 80,000
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01 AXHHILEES 29,100 30,600 A 1,500
OR+=30E &3 K 29,100
SHESUHE 24 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
oOZ3NzUA 2 20,000
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CO3FEEY ZgME =& 1,400,000
OFEEHY ZZME AZz2e 100,000
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01 = LH 4 Hi 7,000 7,000 0
oL 2= 7,000
307 glz2tol & 365,000 368,000 A 3,000
02 ItFAAHE X 365,000 368,000 A 3,000
oxg=E=sdH S32d N 365,000
AAHCUHS SN (IHEENH) 140,000 100,000 40,000
307 21201 A 140,000 100,000 40,000
02 IZtE S AIHE L 140,000 100,000 40,000
oOFIZHEUs 2HE20Y NE 140,000
ool ME2 28 XNA (IR ) 20,000 20,000 0
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02 PIZHEHAHE L 20,000 20,000 0
ootolci HEel 29 XA 20,000
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oxzg XA 1,256,000
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HE MACY SH d4E HE N (I2IHEEXA 500,000 500,000 0
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H: EXIIEE DL (ALY - SA)|L/MATE - DEF
el AT FAZ2 CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@i HRE2
Al 792,000
01 XIS A=Z2E X 792,000 908,000 A 116,000
OFEd ElH=sZCA =“=AIE &Y 150,000
Xl 150,000
OdF SUSZCA ESAE HH| 117,000
Xl 117,000
OLE F2ANSZ2CX “SAIE HH| 200,000
Xl 200,000
OEHEY HEAd=s=ZBCX =S A4 HH| 75,000
N 75,000
OEA AU “F AL HU| 85,000
Xl 85,000
O&Hd SH=sZ2YA “SAIE EH| 165,000
Xl 165,000
g NN 35,000 35,000 0
201 gBt2Ad| 20,000 20,000 0
01 AF 2t 2| H| 20,000 20,000 0
OMSHXHE ARG &Y 20,000
202 04| 15,000 15,000 0
01 2Ll 15,000 15,000 0
OMACX KN JdR2FA 15,000
SE2 T2NME AN (2ELXNGHL /AL Al 366,400 14,786,400 A 14,420,000
N 200,000
=} 166,400
Ol2H KNS HEZA 4 7,000 4,407,000 A4 ,400,000
YA HA 7,000 7,000 0
201 gEt24Hy| 2,000 2,000 0]
01 AP 22| d| 2,000 2,000 0
OJILEA HE S2FXN 2,000
202 044 5,000 5,000 0
01 2L I 5,000 5,000 0
OJIEEZAl HE 2FA 5,000
SANEA A4 & 202 0l™ 359,400 379,400 A 20,000
Xl 200,000
& 159,400
SNEA AL HAEX A 9,400 9,400 0
201 gBt2A | 4,400 4,400 0
01 AP 2t 2| H| 4,400 4,400 0
OHAGTA HE 2EX 4,400
202 04| 5,000 5,000 0
01 2L I 5,000 5,000 0
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OSAMTZA 2448 & 5,000
HAMTA MEHA R AA 150,000 170,000 A 20,000
Xl 100,000
& 50,000
308 AHXI S SO0l A 150,000 90,000 60,000
Xl 100,000
& 50,000
01 AIXHMBANEXZ 150,000 90,000 60,000
OSEATZ Al 243 150,000
Xl 100,000
T 50,000
SHAMTA ASHA SIS 200,000 200,000 0
Xl 100,000
= 100,000
201 LEr2 9| 160,800 162,900 A~ 2,100
Xl 80,400
= 80,400
01 At 22l Yl 40,800 52,900 A 12,100
OEAMT Al &tstA MY 2¢9 10,800
Xl 5,400
& 5,400
OEE ¥ 202 HE(HXN, J/98 S 30,000
Xl 15,000
< 15,000
03 & AtE L 120,000 110,000 10,000
OMELEHS M= 40,000
Xl 20,000
T 20,000
OXN<gs yetesl 10,000
Xl 5,000
< 5,000
onstdAZeHAH 10,000
Xl 5,000
& 5,000
(©UFSEEF= R Sy 10,000
Xl 5,000
< 5,000
O0ldz3I|& L= 50,000
Xl 25,000
T 25,000
202 04 b 25,000 25,000 0
Xl 12,500
< 12,500
01 2LHOHI 15,000 15,000 0
OSAGTA &&tol SUNBHE ALEX 15,000
Xl 7,500
< 7,500
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04 =Xl =t Hl 10,000 10,000 0
OZBEE LAE HAHRZ Al A= 10,000
Xl 5,000
< 5,000
301 et a =z 4,200 2,100 2,100
Xl 2,100
< 2,100
09 &AL HI B &S 4,200 2,100 2,100
O0l&JI2 A3ds R Yztel AHEd 4,200
Xl 2,100
< 2,100
307 g2+l & 10,000 10,000 0
Xl 5,000
< 5,000
02 It M AHE L 10,000 10,000 0
OQOIXH XS MAY NASHS =32 10,000
Xl 5,000
< 5,000
HPSAHEI (OIS X D) (IIEH/IIE) 49,375 49,375 0
JlEZ3l 49,375 49,375 0
EM2E JI2Z 4l 49,375 49,375 0
201 ¢er24l 31,375 31,375 0
01 At 2t 2l 31,375 31,375 0
ORNM2E MR2e 31,375
202 oddl 13,800 13,800 0
01 SLHOIYI 13,800 13,800 0
ORNE2YE =UHAHH 13,800
203 YR =&l 4,200 4,200 0
04 RENSELR=LH 4,200 4,200 0
©302! olat 350,000& = 12& 4,200
MEESOILX ) (A - SLIH/MASEXR) 1,000,000 1,000,000 0
HEAHHK = 1,000,000 1,000,000 0
SMNYsH)Is M 1,000,000 1,000,000 0
702 )1 SEEZS 1,000,000 1,000,000 0
(O RIE=RSE= 1,000,000 1,000,000 0
osxllgse4dlla =4 1,000,000
HRES(AMZXGHLIS) (LT IHA /LB A) 751,233 300,000 451,233
HEAHHK = 751,233 300,000 451,233
ANEXANEIISUH == Ol XH&ke 751,233 300,000 451,233
705 ==& cl 34 751,233 300,000 451,233
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